TSLPRB: Constables of Police Recruitment
Preliminary Written Test (Held on: 28-08-2022)

1¢  If you study history, you

(1) see (2) think (3 will find

that all stories of success are also stories of great failures.

(4) know

% My mother the newspaper in the morning,

(1) isreading ® wasreading (3) reads (4) will be reading
3 Inever feel that I am superior anyone,
(1) than @ to (3) for (4) on
4  The police arrested the thieves.
(f) has @ have (3) s (4) are
5  lalways listen to great speeches carefully so that I implement them in every walk
of my life.
(1) had (2) was (3) am (¢) can
b.  The teacher completed this chapter.
(1) are (2) is (3) have (@ has
7. Indiais country. Every Indian is icon in helping the poor people.
@) a an (2) an,a (3) a,the (4) of, the
8.  Rahul and his friends invited to the party by me.
(1) s (@ have been (3) was (4) had
9.. Thavedonea deal of work.
(1) big (2 great (3) huge (4) enormous
10. A pair of socks been missing from my room.
(1) has @ have (3) s (4) are
41. She | cannot disturb her now.
(1) has been resting (2)  had been resting
(3) isresting @) wasresting
12.  People often games for sports and sports for games.
(1) mistaken (@ mistaking (3) mistake (4) mistook
13. 1 an appointment with the doctor soon.
@ will make (2) had made (3) ammaking (4) was making
S TR
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44. Either of the foot paths to Superintendent's house. |
(1) lead (® leads (3) have led (4) isled

15. Back in my native place, we good internet.
(I) doesnothave (2) wasnothave (& didnothave (4) had not have

Thé antonym of "opaque" is

M) Fragile (2) Partial
(3) Transparent (4) Broken
17.  Either Maya or her friend Manju responsible for the picnic plan.
(1) are (2) was ® s (4) were
18. We two daughters.
‘(1)  will have (2) has @ have (4) having
19. Radha and Rima business partners.

® are (2) is (3) was (4) had been

20 The synonym of "hard" is
(1) beautiful @® firm (3) soft (4) weak

Read the passage below and answer the questions (21-25).

Ms. Yanada recalls all too clearly that mid-summer day in 1945 when US warplanes dropped an atomic
bomb in Hiroshima. A second atom bomb was dropped by the USA on the southwestern city of
Nagasaki three days later, forcing Japan to surrender to the allied forces and bringing the Pacific war to
an end. More than 1,40,000 people were killed instantly after the nuclear blasts and many more died in
the months and vears after. Victims continue to die each year from cancer and radiation-linked illnesses.
loday Ms. Yanada is part of a group called Japan Confederation of A & H Bomb Sufferers, made up of
survivors like her struggling for a fair deal in life. In Japan, a vast number of people are still lobbying the
government to give them the status they have been denied for so long. Ms. Yanada’s group makes
frequent visits to the offices of the influential members of the district.

Fa

2)< people were killed instantly after the nuclear bomb blast.
(I) Only 1,40,000 @ More than 1,40,000
(3) Less than 1,40,000 (4) None of the above
22, Japan was forced to surrender after the bomb.
(1)  first &) second (3) third (4) fourth

23.  Victims of the atom bomb blast in Japan continue to die of
(1) Cancer.
(2) Radiation-linked diseases.
(@  Both cancer and radiation linked diseases.
(4)  Neither cancer nor radiation linked diseases.
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24. Japap Confederation of A & H Bomb Sufferers is made up of the
()  survivors of the nuclear bomb blast.
(2) dead in the nuclear bomb blast.
(3) children of the people dead in the nuclear bomb blast.
(4'- relatives of the people dead in the nuclear bomb blast.

e

e

25. The US dropped on Hiroshima.
@ onebomb (2) two bombs (3) three bombs (4) four bombs

26. If 15th August 2022 is Monday, then the date on Monday which immediately comes after
15th August 2024 is
2022 5 SodSesyBo eati) 15 & B8 Do @and, 2024 &S HodesySo etfR 15 & 5oges ot Sy

Koo D BES 55308 & B6
(19 20 @ 17 (3) 18 4) 19

27.  If (256)25 x (16)45 + (64)16 = 4K, then 5K +4 =
2.8 3Y (256)25 x (16)45 + (64)16 = 4K @cwd, 5K + 4 =
1) 70 (2) 65 B) 75 4) 100

28. If LCM and HCF of two numbers x and y are L and H respectively, then
x 08050 i 3 Sopge BwE), &. Je. tH. BB . e, g7, en SEHIe L dasny H eones, ey
(1) *'I%E () xy=L+H 3 =x+L=y+H (4 ¥ =LH
i

29. A train is crossing a platform of length 200 meters in 45 seconds and man standing on the platform
in 25 seconds. If a man moves in the direction of the train with a speed of 2 meters per second, then

the time taken by the train to cross him is
2

(2) 31-1— seconds (3) 33% seconds (4) 19— seconds
-
200 Svesy D o PG 2.8 Jen 45 REJES", FBIBo P AOD &) 5580 25 dEKS®
Trener08. 2.8 H58 Jew Hosredod BIS® LD Botd Wy o SeoHr oS, WS TreErdS
Zentd HE3 dsoodho
2

202 2o (2 31& Do (3) 33% QSogd (4) 19> Do

(1) 2D§ seconds

M :

‘I_:_

34563-C / ET



ifference of the days they take i ¢

the

indepﬂﬂ‘df“ﬂ)“ o ‘
ork and remaining work is dope by B

30. A is thrice efficient than B. To finish a job

1 f the W
If both of them work together and complete Erd 0

lote the work 18 e
n;’;;;néun“ D8 8 oS DAV Y B =08 g

S 59D Gro B 2003 HID B 293 B, & g9

alone, the total number of days they took to co

B oS A Sarcd B Avsogigo eI, T
1
%o 3¢50 60. TOHKHH L£OD HY DD 5:: NS

1970 @SS 708 HES dwgo Fere Doy

4) 725
(1) 75 2 70 (3) 675 (4)
= T ——
31. 45(gﬂf§+6—lx,§+1_5,]=
3 2 7 14 :
1) 286 ) 572 (3) 352 4) 24

S S

.32 In the given four digit number 3x57 and in the number formed by writing the digits of the given
humber in reverse order, the difference of the place values of x 1
FNS Trenid ©o8v Soryg 3x57 S8, YOS faomgé‘.% wodend AEiR Feodo® 5‘3) ”ﬂﬁﬁgﬁ% X

At S Dende o
(1) 1000 2) 190 Gy 90 @) 10

33 The average weight of a group of men is 77.5 kgs. The average weight of a group of women is
70 kgs. The average weight of all the persons of both groups is 74 kgs. The ratio of the number of
men and women in the two groups is

208 O BBrEFo B, DO°R0 2088 77.5 kgs. 2.8 Qo Surdro Bug), Ko°H8 2058 70 kes.
Both B0 Sge SO0 22thay 74 kgs. @ Both HHurdtos® @) HK Sogyg S8 J©
DoPLe) AP

1) 5:6 (2) 8:7 12:17 (4) 10:13

34 The wages of 3 boys are equal to the wages of 2 men. The amount of work done by 3 men is equal
to the amount of work done by 5 boys. If 40 boys and 15 men worked for 8 weeks to complete a

work and the total wages they got are equal to Rs.12,600 then the wages 20 boys and 20 men get to
complete that work is (in rupees)

B> 2ens do BE KL BB KMo, SN DD BHB Bartorisss zrentd 39
ORF B0, 28 HID 4rg BaHERE OB D08 erenth, HEIE K08 Hktpen § mroven D
33t 80k T FeodS Hebo swedo 12,600 Srarahren OV, &3 HA) I8 SaHzeda WS Hoob
2, BE3 H100 D) Zrold defo (Srdrabes?) 3

(1) 12,285 (2R 12,730 (3) 24,570 @) 12570

Hium

2
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35. A wire of length 17 meters is cut into two parts. With one part a square and with another part an
equilateral triangle are made. If the area of the square is A Sq. meters and Perimeter is B meters
such that B = 2A, then the ratio of the areas of the square and triangle is
17 &Y D o 208 HBfS Bocd zyrrenme EBBo. 28 grtiod® SeKo, SHOBWE grtioed’
DB0e3eI0 BZH238108) S0l S0, S50 ZFwgo A S| E):.EJQJ, cSoénE’ees B .fheaga, B = 2A
9008, L5800, BaHastve ST°gR) AsNB
(1), 8:9 @ 16v3:27 (3) 12:13 @ 16:12V3

36 If 123 more articles can be bought by spending a certain amount when the price of an article is

1
decreased by 33 5 % , then the number of articles one could have been bought without discount for
the same amount is
. 1
SO 65 33-% Shocso Sg Fodf Ingrd 123 Sshen A FSHONS, 08 Jngeds $6S7
Shosp BIY s ESHOF S0 Hog
B 369 2) 246 (3) 123 (4) 492

37. Pipe A alone can fill a tank in 24 minutes. Pipe B alone can fill the same tank in 36 minutes. Pipe &
alone is opened for x minutes and Pipe B alone is opened for y minutes to fill the tank in
30 minutes. Then | x—y |= (in minutes)

P80 A 286 2.8 G5 24 Aares® Dodiierc. 630 B 2,863 2.8 G5 36 Doperds® Dodiferes.
2D A 25,6 x Aapen, O B y Advaren HABD 'G5 30 Aares® Dodrow. @ |r—y |=
(A’

1) 12 (2) 10 4 6

38.  The fraction equivalent to 257 is f

257 & B6] SBFSROS Didysdon

232 232 257 257
1) — 2y — - 3 — S
) 99 ) 90 © 90 m 99

39. In a cylindrical vessel of height 14 cm and radius 5 cm, seven spheres of radius 3 cm were kept.
The amount of water that fills the cylindrical vessel is (in cubic cm)

14 Do. D © e, 5 Do. D © FFVYo fo JEFSERY FHES® 3 Vo.2b.0 TgAGo Ko Nk Feren
&ocSIBSD. & JrrseEd) G Do D3 HBSseeso (. Vo.ab ©&°)
(1) 308 (2) 452 (3) 336 4) 412
l? b
40. The ratios of the ages of two persons before 6 years and after 6 years are 3 : 8 and 7 : 12

respectively. Their present ages respectively are
6 Sodesyore Socsey, 6 DodT ® e507Qe8 {0 HoHANS Aseden HKKHTE 3 : 8§ SHdasH 7 : 12. aed
H30e8 SoHIANeN SEOT |
(1) 10,30 (2) 20,35 (3) 1530 @ 12,25
) i

e !
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1) 10 2) 15 (3) 20 (4) 25

24,000 each. But B has borrowed his investment
ess, B will be paid Rs. 120 per
en the total profit

42. A and B enter into a partnership by investing Rs.
amount from A at the rate of 10% per annum. To look after the busin
month as salary. At the end of the year, if B's income is half of the income of A, th

15
2,69, 8,60 Rs. 24,000 Denadde® A 50805 B e artidrgsingeoirgh. 570 B &S B¢neds S0g) A

D08 3OS 10% 5& SHYS wy) BRHIE. TGS sges §ois JuH Rs. 120 © By B
BHa. HoSei Tr0esoes® B 8 SNS esrraso A & SYS esrraos® Stfo o, 3o erefo

(1) 10,080 2) 9,660 (3) 12,000 (4) 12,060

43. Ratio of A’s last year salary and current year salary is 4 : 5, whereas the ratio of the similar type {?f
- salaries of B is 2 : 3. The ratio of the last year salaries of A & B is 3 : 4. If B's present salary 18

Rs. 25,600, then A's last year salary is (in Rupees) »
A @) §05e3 HoSde5 8 Beso L0805 Hres Hodehyt Besdne JPB 4:5. B B, 33 Bare APB

2:3. A 50805 B © 30656 K0S Sare J@ 3 : 4. B B, S Beo Rs. 25,600 wond,
A @), 1568 SoSeHE defo (SrarahHos®)

1) 12,800 (2) 16,000 (3) 15,480 (4) 10,800
44, If the 5 digit number 57xy4 is divisible by 11, then number of such possible numbers is
(1) 8 @ 9 . @ /12 (4) Infinitely many
57xy4 3 5 o8 Sogyg 11 3 rfodences, @er .-“‘:mq%;sacﬂ:g Dogge Hopg
q4) 8 @ 9 , 3) 12 (4)  @BosoSdy

- 44 _Ina day the number of times both the hands of a clock coincide is
T 2 Berd® 5EARE0S% Both Snenen aSEERS” 2,58 NG HSHIF AT & Sopg

@ 24 2) 23 3) 11 4) 22

46. Two cyclists start at two points A, B which are separated by 300 meters and moves towards each
other with speeds 10 kmph and 5 kmph respectively. From A one travels a distance of x meters
and then both of them interchanged their speeds to 5 kmph & 10 kmph respectively. If both of

them meet each other exactly at the center, then x =

SH8a5 5 2.0, o 2,48 S o8 Hodreso ;imﬁeuznggvd). A Dod) 28D x fbe.}g.'l
DoSedosS etarees QN =Te bty ToL E’Jﬁﬂ":ﬂﬁn 00 Il Kot 5 8.2y, 80y 10 &.5). o
SFENOHTHE. T AGEF PDYBSorr HGigS® EOR), @ x =

(1) 30 (2) 100 3) 75 (4) 475
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R A shopkeeper bought each packet of 12 articles for Rs.51 and sold them as a packet of 15 articles,
each for Rs. 71.25. If he gets a profit of Rs.90, the number of articles he sold is

DB 12 SO g3y Rs. 51 den TS &1 73 15 Sphe drgdenm 30, HB dgden
Rs. 71.25 déx TR 28 SYHE 933075, @83 Rs. 90 egfo &53), 9¢5:5 edys $S0pHe Hogg
(1) 90 (2) 270 (3) 180 (4 120

48, On a certain principal amount at the rate of 2% per quarter of an year the simple interest after
24 months is Rs. 960. Then the principal amount is
(1) Rs. 7,000 (2) Rs. 5,000 (3) Rs. 6,000 (4) Rs. 8,000
B8 @den D IB Kureh oo 2% IS, 24 JeeH wand 3k S& 960 Erarohen. Bl
aden Sweo
\L@ &se. 7,000 (2) &, 5,000 (3) &~ 6,000 (4) &. 8,000

49. The marked price of an article is Rs. 800 and a customer buys it for Rs. 612 after two successive
discounts. If the discount offered at the second time is 15%, then the discount offered at first is

800 ExearaHen HEBS 58 &) 2.8 5508585 DBl b Bock A& Trand droto tregoe
Rs. 612 &% §'3%)¢0. 8ot 08 °0dS orand 15% eone, 3ne3ed PodS orond
(1) 12% @ 11% 3) 20% (4) 10%

50. Certain amount is lent for 30%, 20% & 10% compound interest successively for 3 years. When the
same amount is lent for simple interest at the rate equal to the average of the above mentioned
percentages for three years, the difference of the compound interest and simple interest is Rs. 580.

Then the principal amount is (in rupees)
§%¢5 @) SES5GS SOOI 30%, 20% 0850 10% TS S HHd Dodefyorard RBLEIE.

03 0GR S SodETreH DS IS SE Fere HovB S FEIE 2 SG8 B SES5G,
2PBSE PeSo . 580, ®ond i) @en o (ErarahHeds®)
(1) 5,000 (2) 6,000 (3) 6,500 (4) 5,500

A
v

5% The force between charged particles is called

(® Electron Magnetic Force (2) Strong Nuclear Force
(3) Gravitational Force (4) Weak Nuclear Force
0388 Sero Hgy 408 DR i ©OETD.

(1) DifgtcHIos weo (2) oo SoEs aeo

(3) HHExELe weo *".5.4) Bye Sols aeo

52. An electron moving in a straight line enters into a non-zero magnetic field and goes undeviated.
The angle between the direction of its motion and magnetic field is

28 DogyS H6¢ S o Mot JAIredr JSwSo BolHore @oHIYN FESDE I8,
S BES 58050 ©0oHI0es &I Hoiy &) %0
1) ©0° (2 30° (3) 45° (4) 90°

I

B

_f" -
9 NIRRT
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53. The mosquito repellent used at the home in the fopsm of a coil, liquid etc. 18

. « w = 4)
(1)  Sedative (2) Pesticide (3, Insecticide (
ey B Fedo 550 fhifee® IHdhm (coil), (5w B8N Erarerss® hh

(1) S0 (2) HmHe Sod  (3) 3o (4)  Stoden

Fertilizer

. : . -
5(1. Which of the following compound is present in bacterial cell, plant cell and also in animal cell

@  ellulose (2) Histones
(3) Non-histone proteins (4) Phospholids

& 808 oNS° D SAEIE (compound) e3°g8005 ea065t, BwE), Seaoe” OGS 230eDe Seaoes®
5o &otdod ?

(1) Rergs’s (2) SeRroen

@) TR Fen (4) RO

85. Match the following lists.

List I List II
(A) Chandrayan ()  India's first lunar probe
(B) Mangalyan (II) India's first inter planetary mission
(C) Astrosat (IlI) India's first space observatory
& Sod :::et.;sum 23D GS0c.

S | 28 11

LA [ A

(A) SoBAS®S () erE8B80 @Y IoeBEB Sothl P HOEES HRoerE
(B) Horgairs (Il) erB8B%0 Gy IoeInEB ©odb (KL RS
€ eRf=s () &rE8B%0 @) BokAnt® wosdy $080¥ Sogo (we)tid)

The correct an_s;wer is / D56 a0 Jarrraddw.

(1) (&) -(0), (B) - (IIT), (C) - (II)
(2)  (A)-(1). (B) - (1D), (C) - (I1I)
(@A) - ), (B) - (D), (O - (1)
(4)  (A)-(I); (B) - (1), (C) - (1)

56. - Boiling Point of Water in Kelvin Scale is
el G, ZeepzsSiS s 3OS Brrddne®

@) 100 @ 27315 3) 0 (4) 373.15

57« Which of the follow ing contains CFC ?

(1) Varnish  (2) Wall paint @ Refrigerant (4) Aerated drink
CFC e90€3 &2 808 a°06° 58356

(1) =82 (2 Bhodowod (Wallpaint) (3) Bosd (4) mOS® SraS B0

—
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#8. In which of the following cities is the National Cyber Forensic Laboratory (NCFL) located ?
(1) Chandigarh ~ (2) Bangalore (3) Chennai (4 Hyderabad
% (Bod adyld SHEEnes” JG5E pab PFodE Sades (NCFL) 255 a5 ?

(1 Socid (2)  Borbwrds 3) a3 (4) wooerd

el

The escape velocity on the surface of the earth is
24502 €00e5R0 HePCHS Ftfdn Dend

(@ 98km/s (2) 11.2km/s 3) 19.6km/s 4) 49km/s

N

60. Match the following lists.

List - I List - II

(A mineral component of) (Mineral function)
(A) Ferredoxin (I)  Redox reactions
(B) Plastocyanin (I) Maintains ribosome structure
(C) Middle lamellae (IIT) Stabilizes protein structure
(D) Chlorophyll (IV) Formation of mitotic spindle

&3 808 HEEd SHB S0k,
HeE - 1 HEE - 11

(00:508083%50) (30 Bog), )
(A) TEEY® () Eosr8ystea S8
(B) Q“F?J‘E;QK}S (I) BB’V ATRETRY) AETP0D
(C) HDEgdHeOE (1) FES NORETRY) VEHERB
(D) E6d (IV) $50Desess o Sased

The correct answer is / N0 @008 DATPEPRD.

(A) (B) (© (D)
(1) m av) ) @
2 @ @ @v) a
3 @) @ [ (1
@ @ @y @1v)

6% Which gas leaked during Bhopal gas tragedy in 1984 ?
(¥ Methane (2) Ethane
(3)  Methyl Isocyanate(MIC) (4) Ethyl Alcohol
1984 ¢5° 2005 &S TraiD tﬂaiﬁnﬁnéﬁeﬁ‘s DETH (leaked) oroine) & ?

(1) B (2) &85
(B) 2pS oTRIE (4) GBS wem oS

34563-C / ET 1 AR



62. Match the following lists.

(A)
(B)
(©)
(D)

& 808 JHLOD BSIESA.

(A)
(B)
(©
(D)

List -1

(Bio fortification)

Vitamin C
Mineral
Protein
Vitamin A

He3 - 1

(TR 8T8 5w)
De-C
RIereIan

8%

F®

DerIS-A

(I
(11)

(111)
(1V)

(V)

(D)
(1)

(LI

(IV)

(V)

List - 11

(Available in)

Maize
Wheat

Pum pkin
Spinach
Bitter gourd

;’:.g.}ﬁ -1

( D8S* vdocH)
SRPIENY
BYAVSY
rigdsmas
areErd

Spt=Te]

The correct answer is / 58 @003 3370535,

(A) (B) (O
1 @@ @av)
2) (V) @v) @mn
3) V) (av) @
4 (V) (I ()

(D)
0
(1)
(I11)
(D

63  Which of the following is an operating system ?

(1) Oracle

(1) 20265

(®

(2)

——,

Java

o (Java)

(3)  Win runner
& Bob =AE 588K DR (operating system) & ?

(3) D5

56

(4)

Linux

58y

Cardiac problems

é U mt carbon particles cause the followi
(
(3)

Throat infection
scol (Unburnt) S

Seaimen 2 Bo& ﬁﬁ:ﬁ;ﬁ:
(1) (hoG HDozyelens E’Ji-’:b.‘{':.g

(3) Bo @902 48 (Sogissen)

34563-C / ET

(2)
(4)

ng problem

Skin infection

Respiratcry problems

SeSeasin
(4) B ﬁgﬁi: ;3;5,_\-;55
_-_-__\H\‘—*—-—‘___
12

———-'--—-.-
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£5. What happens to the chemical constituents in leaves before leaf falls ?
(1) ‘Ca’ is mobilized to other parts of the plant
(2) ‘S isalways transported to other plant parts in organic form
(3) ‘P’ is mobilized to younger parts of the plant through phloem or xylem
(4) ‘N2’ in the form of amino acids is carried to other plant parts through xylem
ass O°8 S0 53°6365° &od BAPAHS DEPGren DeHEToN ?
(1) ‘Ca’ B, B, VGG PO HAWEBoSEB0S
(2) ‘S 20BAH B3eH0e5® 3, L), RGBS ZrrreH Sarer Dahacheod
@ P 0K Sreerero SE orthdd) mroe B ), B, FErrertd SarETe oo
(4) ‘Np’ 0 e ErHoss® mrthsh Trgoe ess S, clns), erre SE)eatiodhod
i

pov. Match the following lists.

List I List II

(Ministers) (Portfolio)
(A) Dr. Virendra Kumar (I Heavy Industries
(B) Dr. Mahendra Nath Pandey (II) Social Justice and empowerment
(C) Dr. Jitendra Singh (Il1) Science and Technology

(D) Dr. Subrahmanyam Jaishankar == (IV) External Affairs
&a 308 Do 23e8DBSok.

HeIE 1 5¢38 11
(Soo|ghen) (Beepen)
(A) ©EE Dol HErE (D) a6 5B EDe 7o
(B) wog6 Hodrod ol (1) ;SRS Toed Hocd FHS0S 2+
(C) w56 LS80S doh (III) 28 ®of Bsned Ty JSFBADH
(D) ©56 olpidesgo edHdosd (IV) 288 SgS5Sbore oo

The correct answer /. 58 @00S [AeEeSaS8w

1) (A) - 1D, (B) - (IV), (© - (D, (D) - (1)
@ (&) - (1), (B) - (1), (© - (1), (D) - (IV)
3) (A)- (1), (B) - (1), (©) - (1), (D) - (IV)
@ (A)- (10, (B) - D, (O -, (D) - 1V)

3y consuming in large quantities, which of the following alcohol causes blindness and even
death ?

(¥3 Ethanol (2) Methanol (3) Propanol (4) Butanol

Ss 808 TBS D WOSTD BHS S0efB0e5® GrriESn SOD WolsesgBn Sdokn b e
[ogfDX0od ?

(1) =SS (2) ESS 3) @SS (4) 05> S

34563-C / ET 13 R



68. The Constituents of German Silver (Alloy) are
(1) Cu, Agand Zn (2) Ag Niand Fe
(3) Fe, Auand Ni 4) Cu,Zn and Ni
B30® DD (AF ST )S® 0@ %%
(1) Cu, Ag S8t Zn (2) Ag, NiH8cko Fe

(3) Fe, Au Sdady Ni (4) Cu, Zn 805 Ni

é. Which of the following gases is released into the air by automobile exhaust ?

§08 & arofud S InBS Sod JewSE LYY E™ Trgoe TOS SthHH0608 ?
(1) €O (2) CO 3) SO # NO»

@. Which of the following fields does not have the Nobel Prize ?
~ (1) Economics (2¥ Literature 3Y Physics ¥ Mathematics
& $o8 TS SBS 3003 (Nobel Prize)  Sorfsnsg® 8 ?

(1) e8s +30 (2) ~rSedgsm (3) &FOs 7o (4)  iedd TQo

—_— e

7L, How many pillars were identified under Digital India Program ?
8269 s0ldlr S5Eo (@HrrD) Bos ARy Bogred (pillars) HBodaed: ?

(1) 3 2) 9 (3) 11 “P 5

P
e

72.+ Natural Disaster Management Authority (NDMA) is headed by the

(1)  Health Minister (2) Finance Minister

(’ Home Minister (4) Prime Minister

DB SH0& g0 it S0 (NDMA) &5 Sob a8 e36i3685065° :5¢65%0:y0
(1) es8°g 7z 08 (2) B wgr Ho®

(3) FD g Do (4) ST 08

34563-C /ET 14 MIIIIIIIW



W

Which type of ecological adaptations are present in plants those grow in conditions where
temperature is 25°C and rainfall is less than 25 cm/ year ?

(A) , Reduced leaf lamina

(B) Deep rooted root system

(C) Thin cuticle

(D) Well developed mechanical tissue

(E) Root pockets present

(F) Well developed aerenchyma

(G) Single layered epidermis

& 25°C 000%n SErefo 25 cm/year 3% S5 o E’Jﬂa;-eﬁ}e:reﬁ‘s 280 Jwug)ed® O ESS
OO OEP VT 650€5°00 ?

(A)  EB30DS Bl K5ehisos

(B) &% 20D Sth 5359

(C)  BHYD HPD

(D) e SO Bold GHE Seaesrersin

(E) St eraen 0O &otron

(F) oroe @DB)D S308S arebaine Seaerodn

(G) 28 B (e eaiegessin

1) B,F G ® O.EGC @ (@A) ®B), D @ (A), (O (B

L,

Match the following items in List-I with corresponding items in List-II and choose the correct
answer.

List-I (Names of the Scientists) List-II (Major contribution)

(A) Albert Einstein () Discovery of Electron

(B) C.V.Raman (I) Quantum Statistics

(C) J.J. Thomson (Il) Theory of Relativity

(D) S.N. Bose (IV) Inelastic scattering of light by molecules

& 1808 e - 1 & wored wder - 11 6 $o2088 vores® aSS6, /S SEreraed)
HOHE Ok,

e - 1 (wkge DR) e - II (a8)g wodrore)

(A) o5 oSS D oS Bo¥) DL

(B) %.2. oo (I) sodo Heros &R0

(C) B8 NS (L) ¥ drrodo

(D) %.98. &% (IV) omHos® 208 oRBIPVE Segdes

The correct answer is / 08 @00 HAFEEHRW.
(1) (A)- (), (B) - V), (O - (1), (D) - (1
@) (A)-@V), (B)- (1, (C) - (W), (D) - (1)
(3)  (A)- (1), (B) - (IV), (O) - (O, (D) - (1D
@ (A)- (D), (B)- W), (O - 1), (D) - (V)

34563-C/ ET 15 RN



{'5. World energy needs are rising mainly due to tion and industrialization

(1) Deforestation (8 Increasing pupqi
(3) Inflation (4) Natural calamities
$V0cS ¥8 Tk ©STe Koggore & (808 o0 Heid DEHSTIO i
(1) edEDHen wos8odSEo Q) e DEIHSS HOAW 0
3} ES3eyeo @) 40 SH0eg
76,4, wdia signed an agreement to sell Brahmos supersonic cruise missile to recently.
(1) Ukraine (2) Srilanka ®  Philippines (4) Myanmar
RIFYP JrDBHNE §368 3508 e9dE08 28 200 BDB.
() @ons (2) 8ook (3) 2059 (4)  SoaDgd

77. Which one of the following statements is not correct about Jinnah, the Muslim League Leader ?
(1) Jinnah played a very important role in the conclusion of Lucknow pact in 1916.

(2) In 1929, Jinnah formulated fourteen points and made it clear that it was only on its basis the
unity between the Hindus and Muslims would be possible in future.

(3) He has nothing to do with the inception of Muslim league in 1906.

(4)  Under the leadership of Jinnah the All India Muslim league passed a resolution at Lahore for
the separate nation for Muslims in 1944.

& S08 DSBS B HENd ©d BT Sowood H85°8 (not correct) ?
(1) 1916 ©F)) 2:dy0Sos® 2857 Snarg I S2r03.

(2) 1929 & 14 Sregdwen $880D B erdorrd FARGHS® SrothHen $HBAsH Snoe g
D53 SoGHiod HEeloB.

(3) 1906 S0 OB &5 JRoSEos® JenSoel o8 Beso.,

(4 oS m0base SnYo HF 1944 BoSeKo6® oD ° By TrahHEERS HSrIHSs S0J00%H
HEgE BB GBro& By BomDosEsn 236008, b . > E}

—

#8. In a certain code language ‘DOMAIN’ is written as ‘A ;
' L *
'RATION is coded ac 5 JXFK'. Then in the same code language

28 8% 7" DOMAIN' S 'ALJXFK' o0 9 @08 §% grié® RATION By, 8%
¢ OXQFLK (2) OXPELK (3) KLFQXO 4) KLEPXO

i

79. Two entities are given to the left of :: and these are related i 16
! b : = EC! In 50 . iyt
given to the right of :: . Select a suitable alternative to replace '?’ go I::t: lge clll':e En;'lt}’ and ?
' P the analogy.

B eaate . usuumr Somony On Bl DRAKen (entities) BSgIGOD

508050 & DHEINS 2.8 SPELBw (entity) 2.8 ‘¥ & v
CEANC D o0& DSPER 298 Sahod. e VRGN SPaGeY ‘7 & 2O
pEN:BS::RANi?

e S =

34563-C/ ET 16 ;
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g0. Who married “Rudrabhattarika” the daughter of Saka King Rudrasena ?

(1) Santamula I (2) Mahariputra Virapurushadatta
(3) Ehuvala Santamula (4) Rudrapurusha Datta

Fhorer GO DT B3I SEZETOES DS DTSR ES ?

(1) w68 o Sure (2) L0 HEDEHAGEE

(3) ETVP FoesHre (4)  SSHHRSESE

"

£

The Council of Ministers of Government of India is controlled by
(1) RajyaSabha only (2) Lok Sabha only

(3) Both Rajya Sabha and Lok Sabha (4) None of the above
288 HaHesg od P80 AaHoBosd

(1) orag e S (2) &% K5 Sorgssd

(3) orag Daf SodasH &% Has 4) DI sDH

82. In which Qutub Shahi Sultan court Addanki Gangadhara Kavi was in

(1) Ibrahim-Quli-Qutubshah (2) Muhammad-Quli-Qutubshah
(3) Muhammad-Qutubshah (4) Abdullah Qutubshah

e9¢508 tforreS0 £ ) HHeHP P grS B H0S” &od ?

(1)  =medro - HO - Gy 2) S5 - HO - HSHS>

(3) 0B - HebeSar (4) g HSST

83. Who was the author of “Shiva Yoga Saram” a famous book of Kakatiya age ?
(1) Vidyanatha (2) Jayapasenani (3) Kolanu Ganapatideva (4) Baddenna
seEBcine) srerds BodS ‘BITHIE” @I Joid SSowes DS ?

1) Owgoedd () mOKSDTD () Fodded8dHd (1) o3S

il

P
% What is Metaverse ?
(1) Video Game
(2) Piece of puzzle
(3% Virtual World for people’s interaction
(4) Low Connectivity
S5ee56y @oe3 A8 ?
(1) DERw deo
(2) DLy S exdo (DD 8D ES)
(3) SIS HoereQeew 50 56{)&')5 0TS0
(4) oD £33

i,
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85. Match the following.

(Freedom Fighters) (Native States)
(@) Jayanarayan Vyas (i) Kashmir
(b) K. C.Reddy (ii) Hyderabad
(¢) Premnath Bazaz (iii) Mysore
(d) Ramananda Tirtha (iv) Jodhpur
&3 $08 T SIS HEW.

(FrseSossy Gmhen) (Sogrisiswen)
(@) =aHITOHE TYD (i) sR6
(b) 3.2.3& (i) JeSorerd
©) Do vered (i) Do
(d) oedrSocs &Y (iv) =%

The correct answer is / 508 @01 DISTEeSSD.
@@ (b) (o) (d)

(1) @) (@) () (iv)

@ (v) () () (i)

() (v) (1) (i) (i)

‘4) (iv) (i) (1) (i)

86¢ Identify the Asafjahi ruler who ceded Kadapa, Kurnool, Bellari and Anantapur to East India

Company.
(® Nizam - ul - Mulk (2) Nizam - Ali - Khan
(3) Sikander - Jha (4) Afzal - ud - daula
S50y RoGAS S0 KD, K, 20 O BSodsbed NS E&’:?ﬁ:ﬁ PR D ?
(1) Nero - &6 - Snd), (2) dexro - wd - S
(3) %otsh - Ky (4) eHenPeor
87. Who was the First Indian to have dissected a dead body in modern time ?
(1) U.N. Brahmachari (2) U.N. Dutt
(3) K.N. Das (4) Madusudan Gupta
36O sPe0d” Fav) 5056083 (Dissected) S0EANEES BoGAHS NS ?
(1) oo, IS, R (2) of. IN. $S
(3) 3. o (4) SOBrES e

88. Where did the "Mahboob-Shahi Mills” founded in 1884 located ?

(1) Hyderabad (2) Gulbarga (3) Nanded (4) Warangal
1884 5 BoS5e8)B0S” Zriedd ‘Hraed apde DSy ) ¢ SoB%BR> éob ?
(1) 3&Sozrd (2) toepge (3) ~rod& (4)  SGotseS

34563-C/ ET 18 N




g9, Using this notation
AMB means A+ B
AEB means A+ B
A®B means A—B
AE@B means AXB
A @ B means BA

57H30609 ©3)B 2=
&3 ﬁ:n@"éﬂﬁo eaairHod)

APB eoé3 A+ B

AOB @063 A+ B

A®B o3 A—B

A @B o3 A XB

A® B enoé3 BA

570366099 3)0 2=

1) 194 2 104 (3) 1b4 (4) 4®1

———

90. Who discovered rock art sites at Bhimbetka ?

(1) A.CL. Carlleye (2) V.S. Wakankar

(3) H.D. Sankalia (4) M.L.K. Murthy
DB SR Ber DY ROINODH ENFHO B 7

(1) . 2.6, s°8 (Carlleye) 2) Q.. Teseosd
(3 3R, &. Hosedase (4) oHo. NS . 8. Swrd

i

91« “‘Communal harmony could not be permanently established in our country so long as

highly distorted versions of history were taught in her schools and colleges, through the history
text hooks.” Who among the following said this?

(1)  Ravindranath Tagore (2) Mahatma Gandhi
Dr. Sarvepalli Radhakrishnan (4) Jawaharlal Nehru

“FesToen 00D SVTrORS’ 356000 S0Y (o HRoDDoSIBL TI(SBOT LS SV el
FGoSTH0". & TfAridBL & Sobd T°0e5° JHBH?

(1)  6Dog& oorird (2) oDfor) rod
(3) & TP TErERS (4) 2576 erdS T

2 %‘wu entities are given to the left of :: and these are related in some way. One entity and ‘?’ are
given to the right of :: . Select a suitable alternative to replace ‘?’so as to keep the analogy.

BHSS = & MESHIDS 28 S0 Doeorrd)) SDHS Bocd Soegdwven (entities) BILIAEID
500050 & HAESDHS w8 SRS (entity) 28 7 S0, @ Jo2oHERY) SPACESEY 77 D FDYS
DS o0& HEYEW 258 Bododk.

FLAME : UOZNV :: BRING : ?

@  YIRMT (2) YIQOS (3) YJRNU (4)  YJQMS
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1 R, B is married 1O g and K is son of B. M g

35’. M is son of A, R is daughter of V, § is sister of M anc
only brother of S and R. L is daughter of R, Then L is related to A as @ Aunt
(1) Daughter-in-law (2) Daughter (@ Grand daugh’fﬁg) G & Dasieo 20008 KBy
A G, SEREE M, V Gng, S50 R, M0ao RoRBOS.DEE 0 ) o
B Gng, ©irdic K. S S0 R © O3 A%t M. R ang, H37G L

Qdoyolo i
(1) §%en ) e 0 (B) Sddoe () @ [

_II_-_-_-_._

1 7 i nk" ?
¥ Which Velama Roval Family Women constructed the Nagammudram Ta

; + sree
(1) Nagamallika (2) Nagaladevi (3) Nagambika (4) Naga
Sodores HE0cerds 3083 D HHeed ‘TrrEdBnGe DK ABYPDB ? .
(1) B0 2)  eBerdd (3)  aerrod (4) 62
95. Ghughua Fossil Park is located in _
(1) TamilNadu  (2) Rajasthan (3) Madhya Pradesh (4) Chhattisgarl
e omes 3B, S° J0SNESA.
(1) S (2) owdeS B) Sy 635 (4) 826
96. The Farman of founding the Osmania University was issued by Osman - Ali - Khan on
(1) 24% April, 1917 (2) 26% April, 1917
(3) 29*% August, 1917 (4) 17thSep., 1918
&0 DIDTFOSTR) FD1A® SIS wdgrs Homae a8 Shd B
(1) 2428,1917 (2) 2608 ,1917
(3) 29 estio, 1917 (4) 1730236, 1918

97.  Which of the following statements is not correct about Arthasastra ?
(1) It opens with the auspicious symbol of ‘om’.

(2) A pandit of Tanjore district handed over manuscript of Arthasastra to R. Shamasastry, the
librarian of Mysore Government oriental library in 1905.

(3) It doesnot contain any reference to Mauryas, their empire, Chandragupta or Pataliputra.
(4) It consists of 16 books (Adhikaranas).

BHFRENL Dowodon) B8 S0l a7E365° DB HO WONB5ENB0e (555550 (statement) 5o ?
(1) 28 DDES000S 2 HtHeS’ FrBoziSrdHessod

(2) 1905 SodHefyBods® 330 22588 £,080%08365 S20e5° ﬁf{}ﬁ@é& R. abgs’)ﬁﬁ’gé S02PRPHR
I ToTA

28 Dokehd @daHo B, Tve8 HBHS @otsaiH,

(8) SCoge o 5, 36 Ayrago HBD SN, SolHhipes KBosy DHBE H80D S
NE),E D BAYPDoLSBE.

@) FB L6 8Bt (books) DzielohHerdsof.

1 -




o, The Venn diagram represents
Drivers of motor vehicles,

Drivers of 3 wheelers, drivers of 4 wheelers,
Drivers of the school van

3508308 IO SSHEHD,

3 5570 PP SEJT, 4 5570 erTreS) SAHT,
539, gD SEHTE. DB JrDod IS DesSw.

9 @ 9 @
B (1) © (3) (4)

99. Which one of the following statement is not correct regarding Delhi Sultanate ?
(1) Alauddin Khilji separated religion from politics.
(2) Mohd. Bin Tughlaq imposed a ban on ‘Sati’ condemning it as an unfair practice.
(3) Firozshah Tughlaq imposed ‘Jizya’ even on Brahmans.
(4) Sikinder Lodi exempted the collection of Jizya on Hindus.

GO L0ero% H0e2000DN80esSEH & 8o oEBS° DB DO oSeHoe3 srgyEn (statement) s°¢% ?

(1) oradosre Sodk HER) WeradS PO DEAILL.

(2) OB @TgoHRN WIS Podr SHITHRS DS (S o)) ARBoBD.

(3) DS Ap hifS P06 Rk SRS FESREReD Erae Shren Boho 238008.
(4) 28055 5% sP0eS® ArothishHoR 2323085 HiYH DISFoWoT.

-

180. What is the vaccine given usually to children in the age group of 5t0 15 ?

(1) Malaria (2) Measles-Rubella

(3) Intravenous Polio Vaccine (4) Diphtheria

0 K00 DI K065g HAHKD YL JErSeaon® ]I T3S B ?
(1) B80S (2) W3y - drBY

(B) @otrdSS FOB® 58S (49) Aa%Bat

101. Identify the Shankarachrya’s four headquarters of monasteries.
(1)  Kanchi, Sringeri, Dwaraka and Puri
(2)  Puri, Badrinarayana, Kanchi and Sringeri
(3) Puri, Kanchi, Sringeri and Dwaraka
(4) Dwaraka, Badrinarayana, Sringeri, afd Puri
rﬁnﬁwﬁ;gﬁ}ﬁ Qﬁﬁamﬁméé Teenth oore) DHE gﬂé&')ﬁﬂé& tHYocSHdw.
(1) o), Hofio, Trgss $o805w 330
(2) K18, 2BTP0rosHEs, Sow 508ako #0010
(3) %8, £od), )ond Hoako trgEs
(4)  orgss wgTroabes, §ond 00k 0

e
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102 Navneet Kaur, the player in recent news is associated with ) o—

(1) Football (2)  Hockey @  Wrestling
2350 TGS S SIS 6 D 8506l ? .
(1) Db (2) o8 3) (4) 5

—_—————

1037 Who appoints the Supreme Court judges ?

(1) Prime Minister (2) Attorney General
(3)  Vice President (§ President

oo §TH TegoHBEGHes oHABO B ?

(1) DTN 0@ (2) eerd) 23966 ~
(3} &DTYPIS (4) TRQRB

J

104. Select the one of the alternatives, which is different from the other three alternatives.
B DS $0&, 2,868 DAOS Srurdod Sod DT Eodew ol T DSRS0,
(1) DHLP (B EIMQ (3) LPTX (4) AEIO

105. Which of the following has 5 time zones ?

(1) Canada (2) Sweden (3) India (4) China

&% (8ob =8S° B8 5 $Hch Hoderen S0P ?

) 3S3¥ (2)  ES (3) erosdsan 4) Bav
106. Smallpox is caused by

{Q Ebola virus (2) Variola virus

(3) Herpes Simplex virus (4) Influenza virus

037D &S00 DOD HL DO

(1) oS'er 265 (2) Sohe D65

(3) T°0yn Moy 265 (4)  [RYJor 6D

| T

107. The North Atlantic Treaty Organization (NATO) is an alliance of countries from

(1) Europe and North America (2)  Europe
(3) Europe and South America (@) Baltic States
o8 esgeoe35 363 esf3einS (7oe5°) &° SeHgewor Bavess P
(1) O, Ggo ohte (2) @8 |
(B) 8%, Siee eabs (4) 205 Bave
a _-—_-_'_-_'_——-—-—._
34563-C/ ET 22
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108 Equality before law is part of

(1) Kight to Freedom (2)  Right against Exploitation
@ Right to Equality (4) Right to Constitutional Remedies
&Sty D00 BRESE gtio ?
(1) RS Sy 2)  HESo 6B T,
(3} ﬁéﬁ“&')ﬂfﬂftﬂ E-'Fg)tr (4] UW HOGEED E’Pé)&
—
109. India is a Sovereign Socialist country.
(1) Secular (2) Democratic (3) Republic @ Alltheabove
23885880 2.8 HEFOE™E Jrhagards B350.
(1) &8s (2) Serdegiog (3) 6598 4) 5D
110. Buddhavanam, a Buddhist heritage theme park, was inaugurated recently at
(1) Hyderabad (2) Bhuvanagiri
(3) Nagarjunakonda (4) Sarangapur
2055550 R &Y 65 B e DE)E JeBoDoedd ?
(1) 3csorerd (2) 2HA50H0
(3) oS S (4) ABorrdyrd

o

1. Which state of India first implemented the Right to Information Act (RTI) ?

(1) Tamil Nadu (2) Telangana (3) Madhya Pradesh (4) Bihar

2P OBEBAS'D D ToFHYH0 DVYDVGLIT VDAFTS TP, SErJ) 0D BB 7

@ SV (2) Beworre B) o BT (4) 56
112, Who received 57th Jnanpith Award ?

(1)  Nilmani Phookan Jr (2) Akkitham Achuthan Namboothiri

(3) Damodar Mauzo @ Amitav Ghosh

57 grd%6 1DB0B0 (W) ID SRoLTN 6 ?

(1) huya HYsS Besb (2) @)D VBB Horrdd

(B) oraraed a8 4) oD e

—

113. AVhen was the First Industrial Policy of India launched ?
2088 Bfoes® Em%gﬁnﬁéﬁ DB FRE DFPS0 DaYled FrBoBocsdESs ?

(1) 1951 @ 65 (3) 1948 (4) 1981

34563-C / ET =
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174. Danish Siddiqui, the Pulitzer Prize winner for featurfakpl‘lﬂtﬂbﬂp L @ inhiia

(1) AFP (2) Reuters () TASS 4055 HABDTE.

TR 208 3 HOYE waef fiiees wand E° SHOR . o s

1) DD (2) oronedy () SN, e

e —

115. Identity the capital city of Rastrakutas Manvakheta

(1) Badami (2) Vengi 3) Pattadakal (&) AR

OrR) Sewe) TRasEER) A ?

1) = 2) Sobd () DyEse 4) Sigibe

. Select the suitable alternative to replace ‘? which completes the following series.

208 363 51 TaHERS HOFERS DYSY MPED 7’ o 25§ BoSos.
2,4,7,12,19,30,7

® 43 2) 39 (3) 35 4) 45

1%. Which Commission was appointed by the British Government to enquire in to Indiay
expenditure ?
(I) Welby Commission (2) Andrews Commission
(3) Elliot Commission (4) Strachy Commission
FoGalE pEND AR HEHSIHRN 2 LRSS DOEN BofHeéSw 230008 ?
(1) 38 SRS (2) es0EPD EAS
(3) =2OaHS LHBS (4) DI EDRS

118. The environment clearance granted by the Union Ministry of Environment is for years.
Sof§ HogB8Es HoBess o BB HOCSHEE Eeken Nodefyore) Benzrrends eotnob.
(1) 10 (2) 8 B) 5 4) 3

119:  Which of the following is an example of extrusive Igneous rock ?

il

120.

(B Coal (2) Graphite (3) Fossils (4) Basalt
&2 08 7BE° etfes by BoH Sorietes HA ?

(1) S | (2) oTps (3)  Beradven (4) 20

Pointing to a photograph covered with a curtain a Man said to his brother-in-law that “she is

mother of my father’s daughter”. Then th * :
that man as . ¢ personin the photogr aph is related to brother-in-law of

(1) Mother-inlaw  (2) Daughter-inaw @ Sister u
2o BOS" EB)) G0 D BB SPBI® 2.8 Dttty ey . ) Mother ) -
et B”. & OF Hesb® e S8 @ Bkt 2 8 i~ [T° OIND. ‘@ I°

(1) e (2) E%en (3) Ao

—
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1. — >Ship Was decommissioned at Naval Dockyard in Mumbai.

N

(B INS Vi]?rant @ INS Parakram

( INSRainbow (4) INS Gomati
S0 356 TEAE 6" Do K00 DSBS ateors T 56 7

(1) 0.98.. Dgro 2) 20.0.08. HoeEew

122. 'Identify the States, whose integration with Indian union became a serious problem.

(1) Bhopal, Travancore, Bikaneer @ Hyderabad, Junagadh, Kashmir
(3) Hyderabad, Junagadh, Nawanagar (4) Kashmir, Hyderabad, Mysore
Qol0HS AHFAAHS &° LoBHot eI HHvgR QDD VoTHSEOB HoHE.

(1) &, &I6°6, HIIE (2) IeSorard, wrartil, R0
(3) eeSorerd, errtE, mesSib 4) =B, IrSorerd, 36

R L

128.

In the below series select the suitable number and letter from the alternatives to replace the two
blank spaces.

308 3e3S* tio Bochy o Prrerds 238 BoHErS HBGHS o8, BEBoeH DY Hod JSPSHE.
Z; X, 22,20, R, P, 14,127, 2

) H,F 2) 86 ® H,6 4) 8 F
124. On which day Lok Sabha accepted the separate Telangana State Bill ?
(1) 16t February, 2014 (2) 18t March, 2014
(3) 18th February, 2014 (@ - 20t February, 2014
HBE Berorres ooy Dels S8 & 8% oliEBoDod ?
(1) 16 2358, 2014 (2) 18 &S00y, 2014
(3) 18 258, 2014 (4) 20 223558, 2014
125. The recently restored 200-year-old heritage building in Osmania University College for women
was originally a -
(1) British Residency (2) Nizam's guest house
(3) Military headquarters (4) Royal polo grounds
I GIRAST GO S0dree ETas” DIDOEFoEd 200 © JoSesyoreormeed HoPed
TODESS BI5D0, D (originally), (Rod S0odd) 8 (T° &0&D.
(1) 2% 3H3J (D) RS 08B o
3) OB Hped storgecdo (4) ores DogfoSSS %S° Joredo

W— s R



.7
: T oion of Akbar !
146. Which of the following statements is not correct about reign

(1)  Raja Todarmal, a Rajput noble became Akbar’s
(@ Raja Birbal, a Brahmin rose to high position and .
(3) Raja Mansingh, brother-in-law of Akbar was made the -..ml‘nﬂ; -
(4)  Promoulgation of a new religious philosophy called the Din-I-1ll¢

945 S Sowood & Fod SsEneS’ DO K0w0N0d 560 ?

(1) cragRSHE wand S56:S @b @ng), 333wy Hod™ DOHAN0ESRIGED.

()  ZEENRS DEHS § Lo ©IFE HeESHe BHERFY® B T DAHASIB.
(3) ©H5 S5 2SS0 wand ErE065 DRFEHAT VOHMBD.

(4) 1582 &° ‘BS-s-zerde (Din-I-lllahi)’ @& S5esd SHS°R) )b HEBoI.

revenue minister.

became Diwan. =
ander of the military forces,

in 1582 by Akbar.

127. Where were “Roman Coins” found in Telangana ?

(1) Nustulapur (2) Medak (3) Nalgonda (4) Adilabad
Booreas” "B artden” &85 HBHo O ?
(1) oDer>rd 2) sk (3) S0 (4) edoverd

Fa S

;23. In a certain code, table is ball, ball is glass, glass is chair, chair is computer, computer is pencil ayg,
pencil is book. Then according to this code language the instrument to draw figures is
(1) Pencil (2) Table (3) Computer @ Book
2.8 §%6 2°08°, 209 ©083 2008, 2508 @063 @0, @tio @03 HBy, H8) @otl Lolrged, Kolrgesd eodd!
DS, NS ©@oéS HHLo. & 5% 2R Hseo 25°a5en S AreSo.
(1) S (2) =9 (3) Hoyrgesd 4) H%%o

e

129. Chandragupta Il is the son of

€) Samudragupta and Dattadevi (2) Samudragupta and Kumaradevi
(3) Samudragupta and Dhruvadevi (4) Samudragupta and Prabhavatidevi
Cotesd SotitDaP DB LHRTEIES

(1)  DSghsp S8a5» Sedd (2)  DJ0EHHHE 50805 HXPEED

(3)  DIngrhancd Sodak ¢Head () S0t 80k HersBBEY

130. Kartarpur Sahib corridor connects Gurudwara Darbar Sahib in

Pakistan with in [ndia.
(1) Dera Baba Nanak shrine in Gurdaspur (2) Golden temple in Amritsar |
(3) Nankana Sahib (4) Wagah
SgBirE Fird SOGE APTS &) HOTST BomB ety eriset &) &
Fendeoh. |
(1) Gor aver 59598 S30680, ﬁ}g‘fb@g (2) ﬁﬁgtﬁ BoNeS, e S50

(3) Sy oD 4) aore
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131, s World Boxing championship In
(1) Antaly a‘ (2)  Tokyo & Poland (4) Turkey
s 2360 SdreHe 28y0h 00D 2022 Bewcireridy S50
(1) @o&ros () &% () ook (4)  eshy,
Q=
132. Which of the following mountains are formed due to stress ?
(1) Himalayas (2)  Black forest (3) Vosges (4) Mt. Cotopaxi
82 800 TBS’, 288 Fardiin B0 Dy HegesBnen DI ?
(1) aredrocsirey  (2)  gr§rdp @) 3% (4) T8 Feard)

e —

33. Identify the wrong pair.

(Newspaper) (Persons)
(1) Amrit Bazar Patrika -  Motilal Ghosh
(2) Bengalee - fSurendranau venerjee
(3) Yugantar - Arabindo Ghosh
(4) Sandhya - Brahmabandhav Upadhyay
DO sedeN0ed 38 HBobok.
(5@se) (S5e0)
(1) NS 2006588 - IrdBord R
(2) Borrd - 8o B3
(3) a$orroesd - 8D PR
(4) Sodg - 3P Garergod

134. Ukai dam is situated across which of the following rivers ?

(1) Tapi (2) Narmada (3) Kaveri (4) Chambal
& 808 776365° G50 6588 O S8 EINm GG
1) o (2) S5 3) s°30 4) <Sozxd

135. Who constructed the “Bhimeshwara Temple” at Vemulawada ?

(1) Baddega (2) Arikesari-I

(3) Yuddhamalla-I (4) Yuddhamalla-II

" Shneaees HBdgoreaied)” B QB> ?

(1) 2846 (2) S0csed wdsHo

(3)  Bwcses asogSoened (4)  BoE cSnERrencd

e S
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136.  Which one of the following pairs is not correctly matched
(Associations) (Reformers) e

(1)  Atmiya Sabha Raja Ram Mohan Roy ‘

(2) Dharma Sabha Prasanna l{umf'l!' Tﬂf}.rf’“-
(3) Tatvabodhini Sabha Devendranath Tagore

(4) Goodwill Fra ternity - Keshava Chandrasen
&3 508 S3S5° B HBaS 268 5o ?

(Sogex) (RoRygen)
(1)  e&ah Se - orese OPE) S Teod
(2) &G Je¥ - DX HBeE ortird
(3) SSEBV Bey - B Toitird

(4) DEIS 088

137. Which one of the pairs is not correctly matched ?

L]

SHS Sog8dD

(Artist) (Dance Form)
(1) Kunchu Kurup - Kathakali
(2) Rukmini Devi . Bharatanatyam
(3)  Kelucharan Mahapatra- Manipuri "'
(4) Birju Mahara; - Kathak
R0 =580l 23¢8 DA ?
(Feergartigss) (Frtagsin)
(1)  SodH HEFS - lally
(2) el 3D - SESTeag0
(3) SensSsS S08eed - Sedd
(4) DO DoJso~S - 8655
138. In which year does ‘Ramji Gond’ Revolted against Nizam of Hyderabad ?
T2 O Dol 165* Iraorerd Daro OfB0Sorr SN B ?
(1) 1854 (2) 1855 (3) 1860 (4) 1862
9. leads in sugar exports in the world.
&) India (2) Brazil (3) Egypt 4) Thai
58,8 DB BBoS BT Sdo @ —
(1) =68 2) B=S (3) &g (4) graveres

,'lﬁb. In a row n number of boys are sitting facing north, A bo

another boy Y is thirty three from the right. A boy Z is thj
in that row. Thenn =

Y Xis twenty second from the left and
rd to right of X and sixth to the left of Y

34563-C / ET 28




14:1. Identify the duration of the months for the ‘Kharif Cropping Season in India’

(1) October - March (2)  April - June
3) J ”"E - September (4) None of the above
g6 O Y (Season) eod 33356(duration) tHBoSods
(1) efb- 50 2) OB - 25
(3) 2R - Fﬁ%omﬁ (4) '{.3323 5o
142. Identify the Stretch for which the National Waterway 1 of India (NW 1) was setup
(1) Allahabad - Haldia stretch (2) Sadiya - Dhubri stretch
(3) Kottapuram - Kollam stretch (4) None of the above

&2 08 BS” 26e8 eBAH B30 Sredo 1 (IS aresb 3 1 @D Bodosr) DY & SrPo
(1) ©od%rd - SeQosr JYBes (stretch)  (2)  ABoe - OB DJGea (stretch)

(3) E&DBo - Egro DYGea (stretch) (4) 3D D

143. Gandhiji was not associated with one of the following news papers
(1) Navajeevan (2) Satyagrahi . (3) Harijan @ YoungIndia
&3 808 TVS® o8 Jomoisn B HBE
(1)  S5B85S (2) Serghde (3) LB (4) oHoh Bodale

144. What is the old name of Secunderabad ?
(1) Mohalla (2) Lashkar ¥ Patmam (4) Dewdi
P8oErerd GAng), reS DA ?
(1) Sodeegr 2) ox,b (3) Dexno (@) d3S&

=

15. In a certain code language if GAME =30, RAT =42, then GREAT will be equal to
2.8 8% 205365° GAME =30, RAT =42 eona, GREAT £ 3850550 eoadgd.

(1) 46 2) 64 3) 59 & 56

146. Which one of the statements is not correct about revolutionaries of Bengal ?

(1)  The first swadeshi dacoity to raise funds was organized in Chittagong in 1906.
(2) A bomb manufacturing centre was setup at Maniktala in Calcutta.

(3) Maniktala bomb conspiracy case accused Aurobindo Ghosh and his brother Barindra
Kumar Ghosh were arrested.

(4) C.R.Das was defense counsel for Aurobindo Ghosh.
Borrd PSS HOH 5000 HoDH0SDEL & $08 T°¢365° DO HO oD HBTSE[ 5°¢H ?

(1) Do HEGES Incsed BB &GS 1906 DETPoHES® DEgerocierGod.
(2) Hofars®™ ‘Sedb e’ JroeboeS® 23702 $osr8 Somrl)) DoPYEL SoHESL 230808.

(3) “Sredb oo HE ES® 8D PR HHB0KH S DS 2980 HATE DrKen ©3Q
9 0TP.

4) 05D Drh Bug), GHY oeaHd d. &b, .

— r

—
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147, A recent mega merger of a bank and ¢
(1) HDFC and HDFC bank
(2) DHFLand HDFC bank
(3) IDFC and ICICI bank
(® Indiabulls and SBI "
& 90 Gotf ©
2o g8 Jrons® S0 o ot 89

1) TESADD. &ISAIDD. oS
Q) ATEIDIS. &SADD. TS
3) 0AEIDD. & 00K, PR

(4) =modosr ey & IN.O..

e _

oo

—

148. From the given alternatives, select the one which is different from the other three alternatives,

149. Which Qutub Shahi General donated ‘Sreekurmam’ village to Lord Sreekurmanatha ?
(1) AmitKumar (2) AshwaRao (3) Manikchand ~ (4) Raman Rao
‘BE0’ S5, FEGTE 0SS BErG)0 TP AL SIgLE-TANN K08 ST DTPODR DS 7

(1) oNEHSrE () oo (3) &rRES0h (4) TN oD

150. Identify the place where famous Jain scholar “Rishbanatha” lived after escaping the torture of
Eastern Chalukyan King Raja Raja Narendra in Telangana.

(1) Warangal (2) Hanumakonda (3) Patancheru (4) Kotilingala
Srdy) by TES 0o2redBoH Srodie s’ Bhadas 35 Hodekd SBeotread
Q3o Herd) MDPocsods.

(1) SSotid (2)  EoRKEDE (3) HEBHS 4) &8dorre

1p.. Where is the International Court of Justice located ?

(]) New York Clt‘y (2} Hague ﬂ) Geneva
4 d
waﬁg‘{’iﬂﬁa E“Sﬂi}%"nﬁﬂ ngd &o®d ? ( ) Hyderaba

(1) Argergne Q) G sb W) oS

e e

15}- Which of the following is the cold desert of Indja ?

(1) Thar Desert (@ Lad
akh Desert

LTOBBF0DQ BB I & Sob TAS” HA 2
(1) orbdaed

: (2) & g
(3) ©°N @D ES o6 -

(4) E0T)6 g

e

\ _______‘_____,--"
30 '
[
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153 Whic
- (1)

h of the following is in the Island of Andaman & Nicobar ?

Guindy National Park (2) Kaziranga National Park
Mahatma Gandhi Marine National Park (4) Bison National Park

82 808 365" DO @olirS $3800 DE%PE GBn), Bsne’ God ?

(1)
(3)

Ao 22805 GTrgSB58Sw (Park) (2) E2dorr 2rBosH &TrgdSS5w (Park)
SFETY, Mol DTS 28D GrgSSSSw (Park) (4) 8595 2rBaH &rrgdS5sn (Park)

i

154. Which one of the fullc-wing statements is not correct about growth of English Education in India ?

(1),

(2) .
(3)

(4)

The 1813 Charter Act allocated Rs 1,00,000 (one lakh) towards promoting the knowledge of
modern sciences and improvement of literature.

Babington Macaulay issued his famous minute on English Education on 2nd February 1835.

The famous Woods Dispatch of 1854 was another important step in the development of
Education in India.

In 1864 Hunter Committee was appointed to review the growth of Higher Education in
India. :

ePESBHS” eoff DEFLD HoL0HoD[oSSED & $ob HFSB5VLS® DB HB WSO 5o ?

(1)

(2)
(3)

(4)

1813 578b Seaxdnes® of drarafHen estsHE Qe SH8a rarPHHB S6H
Séanocseadaron.

2*DoffS 0578 esoff ST HHGZo HeB0> DRSO 2, 1835 & HES0B0.
1854 o8 e&slsy HBSw (Woods Dispatch) gr8esddoes® esoff DSy ODBS Doeodod) b
Soé.

E)e8 34555 & DeSorr E‘ﬁé‘ﬁ}aﬁé&&‘ H8BDoSE=28 1864 &5° Frotrd £e3D b%&n SoHESD
238008.

155. Who is the first woman combat pilot in Indian Army ?

(1)
(3)

(1)

Captain Abhilasha Barak (2) Captain Shashikala

Captain Vinodini Sharma (4) Captain Vir Bala
gyetes g_}ﬁgceﬁe mggamse% erewe Aoeey (combat) ?:'39_1&5 K ?

SN wDerRp 2§ (2) 3RS 4

S ATB # (4) S Jb ewer

(3)

156. Which one of the following is not correctly matched ?

(1)
(3)

Muchiri - Port of Chera Kingdom (2) Madurai - Capital of Pandya Kingdom
Korkai - Capital of Chera Kingdom (4)  Uraiyur - Capital of early Cholas

&8 808 °83¢5° DB HBsPSenBoES 23¢8 ?

(1)
(3)

_-_-_-_---—-_

SN - WY Tresgo 565059 (2) g3 - DP0CIFL) TP

8565 - B8 oreagsion TaEE (4) &80Hrb - O SHer oresed
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- : % " E"JEI'lt ?
157. Who described Sarvai Papﬁnna‘s revolt as Rﬂbl‘l‘l'hﬂﬂd like

3 e
(1) Barbara & Thomas Metcalf (2) lrvin & hil::n?az Janit
(3) Richards & Cohen (4) Sherwan it S
Soego0 AR BEGETK TDS- b SO @mmwm; ]
(1)  20%0° & oS DSsH (2) =B3RS & .
(3) B8y & &S (@) dorged & o

158. “Dakshinapatapathi” was title of Satavahana King

(1) Satakarnil (2) Pulomavill .
(3) Gautamiputra Satakarni (4) Yagnasree satakarni
“SEETHEHE" ©F DK EOS ST oeY

(1)  S00csed me$89 (2) Dot QSR

(3) TSDDHY #S5Y (4) oHzd FSE8

e —

159. Aj, .Az, Az, As, As, As, A7 and Ag are sitting around a circular table facing the direction opposite tg
that of the Centre. As is fourth to the left of A2 and second to the right of As. A11s third to the Jeft
of A3, who is not an immediate neighbour of As. A7 is second to the left of A1. A4 is second to the
right of As. The person fifth to the left of Ag is

A1, Az, A3, Az, As, As, A7 8050 Ag en 28 (HoER 28 e SoffoH H9BVE HFD HaNYT
SENTRD. A2 SIS TS oS Ag GINE@. DO HAIDS oS Fodos® A |
GTNE. A3 B ENIDN "G Q‘S’Juﬁe A1 Gy 8050 Ag © B S &y BPEHTE Az st

A1 § IEHJDD BotES FrBos® A7 &I, As © HE SDS BodSd FSoS® Ag el Ag
DELZHD VOGS JdosS® &) $g8

(1) A4 (2) A2 3) As (4) As

160. What is not a characteristic of Indian Economy ?

(1) Low per capita income (2)  Excessive dependence on Agriculture
(3) High rate of population growth  (4) High per capita income

& 800 TS° gedes &8¢ HgDY B, ©Feso 52 8 ?

(1) S50 S50 estroo (2)

DRI Ao NS IPEHE 0
(3) arer DHe wdSorr gotitio  (4)

DIALE TINTs) sraio

161. Identify the Buddhist work which referred about “ ASMAKA” Janapada ?

(1) Vinaya Pitaka (2) Sutta Pitaka

(3) AbhiDhamma Pitaka (4) Anguttara Nikaya

“@Xys (ASMAKA)” 2353650 5800 SDoDS 2% 655 58 ?

(1) DIH HEE (2)  %oes S

(3) wDESY HEE (4)  0othests D¥as
34563-C / ET 32
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162. Identify the wrong pair.

(Teachers) (Seth that follow different paths)
(1) Purana Kassapa " Sceptics
(2) PakudaKatyayana -  Apuvadins
(3) Makkhali Gosala - Ajivikas
(4) Ajita Kesakamblin " Charvaka
%05°0 (wrong) 23858 (HBocSHw,
(oBHen) (9% Srgidnen @580 Btfen)
(1) Dores SEFRHD - Dodrocs deHen
(2) DEOE sPEgadd - @05
(3) KO Fde - wld%en
(4) 235 SXEDS - arorgHen

Three different views of a cube having the labels A, B, C, D, E, F on its faces are given below.
If this cube is unfolded, it looks like

TGO, E8 DoVBK DEBVS B ScHersH &od SO

S |

E E
D F
B B A
£ A B A (B} § E
B A B F C
[ C E D B
D F F D E 4 A

»/ @ t T

«64. Identify the Velama ruler who has shifted the capital city from a Amanagallu to Rachakonda.

(1) Singama Nayaka-I (2) Betha Nayaka
(3) Anapota Nayaka-I (4) Kumara Singama Nayaka
‘3805690 o TreSEHED TPERPAR S80S Sesorerdy Hfosod.
(1) 306583 Dotisdy TaHE (2) & raHHd
3y  Ruocsed ebsasae TPoHED (4) SEPE dotid TPaHHE
% P.K. Sinha recently stepped down from which position ?
(1 Economic Affairs Secretary (2) Principal Advisor to Prime Minister
(3} Education Secretary (4) NITI Aa}fng CEO
. 8. D adde H5D8 TrBrSe S0,
(1) ey Sg85eor0 SileiVale)) (2) Bord SodS Swag Sl
() Doy se85es8) (4) & esdBH CEO
-_-_-_-_‘—'—-—._
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related in some way. One entity and *y -
so as to keep the analogy.

egasnen (entities) aésm%
oY) SRR V' K gk

16¢. Two entities are given to the left of «: and these are e
given to the right of :: . Select a suitable alternative to rep :

S0805 1 H HAIDS Bf Soeigsw (entity) @8 ‘? gesd). &8 Vo0
RSO Krod MEPEW &8 Scbed.

CIL:BIG:: DAY :?
AY

(1) BAT ® CAT (3) EAT 4 P
== o —
162.- Which one of the following is the largest site of Indus va[[ey_{Harappﬂ) EWIIIZEIFEI'I ?

¥ Mohenjo-Daro (2) Harappa (3) Dholavira (4) Ka 5 ;ngan

NOHE D IOLS(EEEINNE Howodod & (§od TESE"  JrSEBw DFoD0Ne

(1) ST (2) oo (3) &8 (4) s*20i
18>. Which of the following is the largest plateau in India ?

(1) Malwa plateau (2) Vindhyachal plateau

(B Deccan plateau (4) Chota Nagpur plateau

&: S08 TS B3 3DS” 0a DE DEBE 6 ?

(1) Srerqdozrd | (2)  Dogrge DS

(3) &SHB > 1) S hrd HEZrYD

169. The Luni river, which originates in the pushkar valley of the Aravalli range, ends in which among
the following ?

(1) Asa tributary to Sabarmati (2) Rann of Kutch

(3) Arabian sea (4) Mt Abu

S5 383 6 Y6 STHS® 290D e 58 &2 §o8 BSE FS 2000 (ends) 238tH ?
(1) J5H88 556 "(2) 885 eSS )

(3) STDAHS SSESw (4) 308 e

-

12b. Select the suitable alternative to replace the blank s i i
s pace to complete the following series.
S08 263D 78 BoHES g d ey OGS NS0’ 258 SanHod. 5
BI9N,E14P, _ ,K7T, N5V

(1) HI10R 2) J10S (3) 1I9p @ HOR
171. Elysee Palace is the official residence of the President of
(1) United Kingdom (2)  Srilanka
(3) ‘ Frar::e (4)  Singapore
DD B0 wIH OF 965 E 0B dawdo,
(1) oIBE bk (2) Reo
B & (4)  Rotizirs
—_— —_—
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t the suitable alternative to replace 7" ; _
17, S¢IEC . €place "7 in the follow : ;
2 the two sets of numbers given left to 2" mark Ing so as to keep the analogy as is there in

BisHS 7 8 SEDFYS AN Both Bogrg BNBeS® K 5
S5ED 17 288 Basod. Fg OB o Adrargd) ol HOGS PSR

7:49:56::5:25:30::?

(1) 4:16:64 & 3:9:12 (B) 8:16:24 (4) 5:30:35
R e
173, Which Qutub Shahi Sultan was murdered in the year 1543 CE by his own son Jamsheed ?
(1)  Sultan Quli Qutub-ul-Mulk (2) Ibrahim - Quli
(3) Muhammad - Quli (4) Taneshah

§.4. 1543, &° & HAzrar LogPS &5 53065 HEFPEHES 2096 IBS® Srefy BobHardart ?
(1) =S 0 HHS-6S5-50f),  (2) zpiro-HH

(3) SoSeERB - K 4) eHap

174. According to a popular view of scholars in which diamond mine does the World famous
‘Kohinoor Diamond’ found ?

(1) Kollur (2) Samarlakota (3) Vajrakarur (4) Kolar

HD0eS HOYTPOR ‘Bardrb S50 2 S (AS® B80S DrrdHe Hrrd DEgdo ?

(1) Serbd (2) s (3) SEEr6 (4) Serb
5, On which line does the date change by exactly one day when it is crossed ?

(1) Equator (2) Prime meridian

(3) International Date Line (4) Tropic of cancer

D BeS® B 57055t PAYBOT 2 BIZW JrrdBd ?

(1)  25Hmaesy O 2) 29m0 IOECHS

(3)  eoesoedah &S O 4) &5, O

-

17%6. The word (may not have any meaning) to be filled in the blank space in the following series is
& 808 @sﬁé‘ e Qﬁ.‘{’mﬁ) ED'Q 2oHHOBS Do (Eﬂgn G055 80 ﬁﬁa)

A,CD,GHI, ____, UVWXY, EFGHIJ
(1) LMNO (2) KLMN (3) NOPQ ® MNOP

177. Which Prime Minister of India launched the MGNREGA ?
(1) Rajeev Gandhi (2) Jawaharlal Nehru

(3) Man Mohan Singh (4) Deve Gowda
N.22.05. 5. 85.23.0. A Qﬂt‘ﬁﬂé’.‘lﬂﬁ)&’) 2GS DR 5008 AL ?

2) sdb ord ITw

(1)  oeS oo
(3) oSS dob (4) B3 e

35 T
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178. Let A=B# C=D <E < F. Which of the following is cnrre;‘t {
A=B#C=DsE < F 0X&H0mro. & §08 a0 8 deso

(1) A>C 2) D>B 3) A>C=D>B 40 D>B=A<(C

—

— TF

A7p, The number of triangles that can be identified from the figure given below is
§ot8 AN Heosin Hdod HBoSHOAS Bedessdne Jopg.

o o N AN
& L N 4 L
z{ . Fi 1'\-\. J 'l"l
— L
)

1) 12 2 16 ® 17 4) 20

———

180. Identify the Inscription of Kakatiyas which describes the declaration of Sovereign Power in the
year 1163 CE by Rudradeva.
(1) Anumakonda Thousand Temple Pillar epigraph
(2) Bayyam Tank epigraph
(3) Warangal fort epigraph
(4)  Srisailam epigraph
$.4. 1163 & Bo|| D& 3oBS seEBEVE DHEBDE & 0S50 T(o° 0 BT RHSE HESK

SHoHIchdod.
(1)  H0EE Jondoare HE 550

(2) 2aSg8o BKHH 0S50
(3) SBotid 5% #5650
(4) 33e0 #5350

182. Which one of the language-culture groups represent the oldest speech family of India ?

(1) Aryan & Dravidian (3) Austric (4) Sino-Tibeten

TESLHS” ODES HIISHED SHeNB08 2R KoRYyB KKy B FASRB6 ?

(h es838 2) BDEHS (3) w98 (4) DS-8B>S

182. Which among the following is India’s deepest landlocked and protected port ?
"~ (1) Chennai (2) Kandla (3) Paradeep (® Vishakhapatnam

& $08 EBS° 58834 S°BS 2rDS @560 O30 Bakn SFSIS £:5859 DA ?

1) 33, (2) sror 3) DEES (4) Depensw
13{ Where is Sardar Vallabhbhai PPatel National Police Academ}r located ?

(I) Mussoorie (2) Nagpur ®) Hyderabad (4) Chandigarh

RP6 DOz HERS D096 VDD eseec ) D) & &od ?

(1) 6 (2)  =hHr6 (B) roooers 4)  Sodsb
34563-C/ T 5 Ngn




The group of seven (G7) held its 47th summit in

1) England Washi
(1), sty 47 8 obho wons s @ Oslo @ Cuba
otio& 9
(1) =93 (2) a‘ﬂcgﬁ (3) g @) Srge
185. MﬂtCh]f*h‘: L}Et - I'with List - IT and select the correct answer
il List - II |
(Texts) | (Languages)
(a) Kesavasuta () Bengali
(b) Adipurana (i) Tamil
(c) Durgeshnandini (iii) Marathi
(d) Pancali Sabdam (iv) Kannada
22D&- 1 D, 20 11 &° 2365002 K535 DSrEPES ESFRbssw.
i AL A | 2N eze- |1
(docsisores) i)
(a) SHS0eS (i) Borrd
(b) eBOEa0 (i) ST
() B3R SobD (iii) Soo°8
(d) Drocred F20dw (iv) &5
The correct answer is / 58 @008 Ha3EPSED
@ (b)) (o (d)
M () ) @) @)
@ @) Gv) () G
3 (iv) (1) (i) (i)
9 () @) (@) 0
186. Select the one from the following alternatives which is different from the other three alternatives.
§rtS RS QSTeS” 288 DADS SarB0e38 X0 oG B0k 2.8 DS DAY
A1) Fly (2) Walk (3) Run LT atic
%. In a code language ‘fortune favour the brave“ts\written as Se 3¢ 61 7¢'; a
‘Ram is brave leader’ is written as ‘3mZs 3¢ 6d’;
1.eader favour the follower” is written a. 8r 3eor 6d’;
‘favour the Ram’ is written as ‘3m 3e 6r’.
In the same language ‘Ram is fortune leader’ is coded as:
2, &5 oAt ‘fortune favour the brave’ & ‘Se 3e 6r 7’ oo Zrardd.
‘Ram is brave leader’ & ‘3m 2s 5e 6d’ r° PO
‘leader favour the follower’ & ‘8r 3e br 6d’ m° ZrR.
tavour the Ram & 3m 3e 61" o0 rard>. 3 86 ALON
“Rarn is fortune leader” @»&); 86 & :
@ 6d7e2s3m  (2) 6r7e3e3m (3) 6r8r3e6d (4) 6d7e3m8r

188,

Which of the following states or Union Territories is home to the Pir Panjal range ?

(1)  Arunachal Pradesh (2) Uttar Pradesh
4) Jammu & Kashmir

(S)H Uﬁarﬂe'lj(‘h St ot Lnes® B Sof ME:*; roesSnes® HE HozrS Fed K.
(2) &es6 DA

a7 L



198. Arrange the following in Chronological order
(a) Second Carnatic war
(b) Battle of Buxar
(c) Third Anglo-Mysore war
(d) First Anglo-Maratha war
808 3030 SHD EHi0es® Deiydw

(@) Oodsd Sgreds alngadw

(b) 250 chogsw

(€) NDED Enﬁw SMSHIARNIY
(d)  SeseS ol -Sooeoe oXFH
(1) (@, ®) (0. (d)

2 (@ (<) (b). (d)

3) (a). (b). (d), (c)

@ ) () () (d)

190. The famous ‘Siddeshwara Temple’ centered at Hanumakonda was constructed by
(1) Rudradeval (2) ProlaRajal
(3) Rudramadevi (4) Achitendra
SFRBEHESD BV DFAGE 00’ Do DS ?
(1) S35 DSBS (2) I Joorer
(3) &EHBD (1) @B
191. Who among the following persons wrote “Nitisara” in Sanskrit?
(1) King Rudradeva (2) Jayapa Senarnu
(3) Manavalli Ramakrishna (4) None of the above
&: 308 T°05° DS “ABIE” Ko HoXyeess® Eoerd ?
(1) ore HEBS | (2) 20HeD DTN
(3) ArI5Q oy - - 4) IV D
192. Which state is the largest producer of Chilli in India ?
(1) Karnataka (2) Gujarat .., (3) Kerala 4
B D550 EOEII™ Sodod U0 DA ? e
(1) sgeess (2) (hord 3) &5¢ (1) ol $BS

. A person starts at a point A and travelled 13 meters to
.= . wards North-East and elled
12 meters towards South and from there again travelled 13 meters towards Nﬂrtﬁ-Eat:terl}Trg;vthﬂE

he travelled a distance of 10 meters towards West
. Y and r ed the f; :
direction of A from B and distance of B from A are rEsPEctivE?}Eh # dinial postton. B, Thi -

1)  South and 12
(1) meters (2) Northand 12 meters

(3)  South-East and 15 meters [G North-W.
2o 558 A 55 22050030 Sumisg BEYE” 13 Dototh HEhod ot As s s Tters

Soder Bsardgo BEYST 13 e Holredoard., 08 & p
55050 B £ BHOHTHE. B Sr0é A S o 68 580k

(1) ¢58eao 06030 12 et

(2)  eess
(3) esyoSo Svbain 15 Doests> £00 a1 12 et

1) 050 0000 15 Syess

_“_-_l_-_-_-_'_-—-—
B
T
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hich place in Telangana Region bec | N
E’T} Patancheru (2) 5 4Me a prominent Military Camp during Kalyani Chalukyas ?

Kalyani (3) g‘v’emu‘é:wada (4) Sanigaram
;i 20B0 BG DA Sogdorr 080 oSO
1) HTPRB QD) (2)  Somged (3) Sdvesrs (4) #5680

The total sanctioned stren gth of the Rajya Sabha is

195. members.

gresg 25 GB08); 02373 Y gsgesq Sogg

(1) 210 (2) 230 (3) 250 (4) 280
19“5' Which of the following (1% a finer sedimentary material ?

(1) Gravel ~ Sand 3) “Slat

&3 808 F7365° HeHod wSED DEPERD A ? » = W .

1) Eo&8 (2) adg (3) e (4) 200808
— 2 2 .

India’s rank in the World Competitiveness Index 2022 is

2022 &° HHocs D%3esess Bredes® erssdso @) T°goH

(1) 43 @ 37 ‘ (3) 40 (4) 39

.98.

The First attempt of entering Indian territory was made in 711 A.D. by the Arabs.
Who was the Caliph at that time ?

(1) Al-Hajaj (2) Al-Walid (3) Al-Bakar (4) Al-Qadir

g_. 4. 711 &5° ee8e5340 '2’_) @ﬁa:a{)e: 30&H Socsosseed 23800d). el mﬁ;"ﬁ DE ? |

(1) =~0&5-Frees (2) ed-a0db 3) ed-2085 (4) eoS5-0b
199, éﬁl;w many schedules are there in the Indian Constitution ?

28¢5 Trergotioss” Q) ARG Ko ?

@ 12 2) 10 | 3 1 @ 9

2

Ellésg’ vvnich of the following is not a function of Parliament ?

4563-C /ET

(1) Distribution of revenues between the Union and the States

(2) Distribution of Legislative powers

(8 Disputes relating to Water

(4) * Coordination between States

85 808 DS DB ArERotn B, B S ?

(1) Sog-Toarge Hr6ig SLPASTRY DHocstso
(2) DS wdsore Do

(3) e daroren -

(4)  orRrge Sugig Dugao

39 BRI
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